Lecture 29 (11/12). Please enabel video if you can
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Proposition 6.83. If X is the wealth of a replicating portfolio with X,« = Go«. Then o* is an optimal exercise policy. Moreover, if T*
— - = -_ -

is any optimal exercise policy, then X« = G+
Corollary 6.84 (Uniqueness). If X, and(i// are wealth of two replicating portfolios for an American option with intrinsic value G, then
Jor any optimal exercise time o* we must have locorXn = LugoYn.
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Proposition 6.85. Let Vv = Gy, and V M} Then V,, is the arbitrage free price of the American option. That
s, the market remains an‘ﬁ"age free if we are allowed to trade an American option at price V,,.
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